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IMMEDIATELY AFTER COMMENCEMENT OF THE
%:E\é}“:;lNATION. YOU SHOULD CHECK THAT THIS
TORN DOKLET DOES NOT HAVE ANY UNPRINTED OR
RN OR MISSING PAGES OR ITEMS ETC. IF SO, GETIT
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ENCODE CLEARLY THE TEST BOOKLETSERIES A, B, C
OR D. AS THE CASE MAY BE, IN THE APPROPRIATE

PLACE IN THE ANSWER SHEET USING BALL POINT
PEN (BLUE QR BLACK).
You have to enter your

Roll No. an the Test

Booklet in the Box

provided along side, DO

NOT write anvthing else on

the Test Booklet.

YOU ARE REQUIRED TO FILL UP & DARKEN ROLL

NO., TEST BOOKLET/QUESTION BOOKLET SERIES IN

THE ANSWER SIHEET AS WELL AS FILL UP TEST

BOOKLET/QUESTION BOOKLET SERIES AND SERIAL

NO. AND ANSWER SHEET SERIAL NO. IN THE

ATTENDANCE SHEET CAREFULLY. WRONGLY FILLED

UP ANSWER SHEETS ARE LIABLE FOR REJECTION AT

THE RISK OF THE CANDIDATE.

This Test Booklet contains 100 items (questions) in both

English and Odia version. Each item (question) comprises

four responses (answers). You have to select the correct

response (answer) which you want o mark (darken) on the

Answer Sheet. In case, you feel that there is more than one

correct response (answer), you should mark (darken) the

response (answer) which you consider the best. In any case,
choose ONLY ONE response (answer) for each item (question).

In the case of discrepancey in the meaning, the English

version will prevail.

You have to mark (darken) all vour responses ONLY on the

separate Answer Sheet provided, by using BALL POINT PEN

(BLUE OR BLACK). See instructions in the Answer Sheet.

(i) AIll items (questions) carry equal marks. AN items
(questions) are compulsory. Your total marks will depend
only on the number of correct responses (answers) marked
by you in the Answer Sheet,

(ii) There will be negative markings for wrong answers. One-
Third (0.33) marks assigned o a particular item (question)
will be deducted as negative marking for every wrong
response (answer). o

(iii) If candidates give more than one response (answer), it will be
treated as wrong response (answer) even if one of the given
responses (answers) happens to be correct and there will be
same penally as above to that item(question).

Before vou proceed to mark(darken) in the Answer Sheet the

responses to various items (questions) in the Test Booklet, you

have to fill in some particulars in the Answer Sheet as per
instructions sent to you with your Admission Certificate.

After you have completed filling in all your responses on the

Answer Sheet and after conclusion of the examination, you

should hand over to the Invigilator the Answer Sheet issued to

you. You are allowed to take with you the candidate’s copy /
second page of the Answer Sheet along with the Test Booklet,
after completion of the examination, for your reference.

10. Sheets for rough work are appended in the Test Booklet at the end.
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10. 99181 98¢ @ 68 Q1a6a Rough Sheet ang aaigied |
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SI. No.

[Maximum Marks : 2@

Qi aIee aig 5694191

99181 2190 96 Qser T6g, Q60 QI SR6RT ATE, 6a 92
09181 9698, 66 676d 08 f2e GRl TRIRIS BRI 676 EG"@:‘J
431 AU AQfe Aye aevd | 97 6aB0A caIeaiN, 121 ORRER
@0 ¢AQ I8 33] @ 601G\ a'gq aaral geqe da1de |
99181 9695, 38R A, B, C 6 D Q 9R QIV6S 62% R A& 601
(R12 81 @71) Qie2Ia @5 Qea T96a AR 59 O] FIRER
994 eal

99A 9699 61 VzIRIRgS
99 ©o6a gea qa
ERUARAR cad | aqial
9616 69 294 G 60 QI |

Q571 999 9G6R QAA AQISI 6]E / 99 T6QE /F 6
fAIR RARQ AI0 @G QRa @@Ql AIREIR, YAAE Qg
99 62 a1l 966 / 94 Q6]e ddg 6 gfe Qs
Q" 89Q 49 efe Q'aug 26 ARa 92 994 € |
2R 996 6219991 999 9gQ e AN 692 SKaQIAl
9€8 | wgaId a'qq QIeea giE Qial |

N2 99191 96QS, 69 ARG QUAIR1 8 632 AITIEQ Qoo gl
(99) Sanaief | oquq gq 90] aae oag QaRIq 9Be Qe
Q671 29Q 9g6a QIR @8 926 R | 9T Q6A 66T Q 2R O]
990 291 QIFR, 696 @6 6ANE] 2R O] 69IF AFS 692
6aI84g T 6690 GI2 ag6a Fe¢ 9a9 | 2d NGl 34T
219eaY geQ, QA1 RUIGI 299q A |

98 GY§ 60Q (919 8 @QI) 94e2IR @@ JalARSl Ge

NG Q69 996R {AA 20¢ AR 999 QI 8 §9¢ 9 | 999

Qg6Q FAIINYR GORIQ 6 |

() 999 94 2AIP AIF Q2R Q6Q | g6sYR gy QRIS
g6% | A9Q dg6Q QA QIal DaIgIRgQl Qa0Q, 89 6aa
Q98 27919 AIY Fea Q49 |

(ii) 99 996 QI 6R6ATE AT 629 | geote R Q8 QI
6249 949 IR - gelara (0.aM) AIdq QITGaER |

(iii) @7 gidit 6915 4Q IS R9R ceaId, gl 90 289
QIEQ g26 91T, AT equg 69ITW O 0aa 2N, 698 g4
aid @asaIg AIGE 6resty AIFE 2aIeq BaIGe |

Q89 9g6a ARIBI GERE 62 4TI ANG RO\ 61 TG YF 99

QA9 Admission Certificate 62 291 RedaIRIAIQ 624 gAQ

@8 o2y eeq agea gad QTQIg ade |

969 UgER AR AN AAQ §R9 6RIAAT 6R ¢ ATl A9

69, QAR TRURINARI QA IGQ 967 ANNAG 2gISRERI 654 |

9918 6619 6291960 g1diw 90 / 289 9ga Je1a Qg a2 aial

9698 QIEIAIER Q2R CRORIFER, 12 caen Beq §oia aId |
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1.. Match the following with respect to the
occurrence of races in List - I to the type
of Races in List - I.

List-1 List-1I
Races Area of Existence
a. The Turko- 1. Rajasthan and
[ranian Punjab
b. Thelndo-Aryan 2. Odisha and
Assam
c. The Scytho- 3. WestIndia
Dravidian (Gujarat to
Karnataka)
d. TheMongolo- 4. North Western
Dravidian Frontier Agency
Codes :
a b ¢ d
<(A) 4 1 3 2
B 1 4 2 3
< 1 3 2 4
D 4 2 3 1

2. India is an agricultural country, where
most of the population directly or
indirectly involved in this sector.
Regarding agriculture in India, which one
of the following statements is/are not
correct?

1. Bajra is a Kharif crop, which
requires 25°-31°C temperature and
40-50 cm rainfall.

2. Cotton is categorized into three
groups long-staple, medium staple
and short-staple.

3.  Currently, India accounts for about
50% of the world’s total jute
production.

4. India is the second-largest
producer of silk and the largest
consumer of silk in the world.

Select the correct answer using the codes

given below: :

(A) 2and4 (B) Only3

(C) land2 (D) Only4
CSP-1/D

qiogel 8qaIsd olRel - II 98¢ efql - I g

coige olagl - 142 @9g

claal-I olaaI-IT

¢°8/9IG 2dq 688

2. Qa-9ale 1. QegIe 6 aIQ

b. Qoal-aIeade 2. 6G4lI6aQia

C. qlasa-QIeeaIR 3. @84 @Iee
(9gaIs @ 94IeR)

4 ceaip-qiegaie 4. @99 Adq A1
goaR QIdyIea

* gaie (Codes)

a b ¢ d

A 4-1 3 2

@) 1 4 2 3

1 3 2 4

M 4 2 3 1

QIaE 6208 1 QEGUIR 624 6990IER 2RI

SRT°GYl 90YT QIER SI YYD 6T IR 68GER

GeaiGe 298 | Qa6 Q8 «iegl 989 OF

A4e 699 @5/98 JFe Aoy Q6% |

1. <Igal 98 ¢ag oaq, Q12 25-31891
glgaigl 99 40-50 sadfica adl
2GR AR

2. QQIg T6RIG 96/gAIR 6Q FRQ KA
- Q119 AU 6 IR

3. Qe §469 6919 6¥I¢ QYL
@R caleQe giess 50%

4. QIR0 94 e19 9299 6Q4d4a
QQIQRRQT 624 9G° ATYS 6Q4¢
QIR QAT 6Q4

dgea QuQIRARI 6218 (codes) Q4921 @9
0] 2996 QI8 |

(A) 2064 (B) 6=ee 3
(C) 162 (D) 6aew 4



3. Match importantprojectsinList-lwith 3.

the area of implementation in List - I

and select the correct answer using the
code given belgw:

QeI I ca ae neead geg a2 cixal II 6a
a1 9ai0e 689 (implementation) @2 6A@
9 6 Bgea aIIRAel 6918 (code) QieRIa
Q0 0] @ea § 648 99 |

List-] List-1II

. eiRal-I olpal-1I
(Multipurpose (Area/ Place of

ot (Uee Q Qege geg) (QaIae 698 / 9I9)
Projects in India) implementation) e g

& Tungabhadra 1. Lower a queg eggen 1. edel @ /g
Multi 49g QQBYR!, YU
1purpose Narmada Valley, b. adig QsqIma 2. €AR6QIEI QIRY,
et Gujarat g9eg 6ORRTIRI
b. The Sardar 2. Nalgonda c. floige aie geg 3. 21Qg69d G
Sarovar district, aqIee _
Project - Telangana d egieaq ges 4. gmie, 2899l G
QURgIR
¢. Nagarjuna 3. AndhraPradesh
6919 :
Sagar Project and Karnataka (Codes)
d. BhakraNangal 4. Punjab,Haryana s F w A
Project and Rajasthan .
A1 2 3 4
Codes :
a b ¢ d B) 2 3 1 4
A) 1 2 3 4 ©3 1 2 4
B) 2 3 1 4
«@C) 3 1 2 4 D 4 2 1 3
D 4 2 1 3

4. Among the following options which | 4. Gqea g9 Gag AuiQ 604 ade Gaaed Q0]
mountain pass doesn’t belongs to the QAURNR Q6L ?
correct state?

(A) Shipki La — Himachal Pradesh

{ (B) Aghil Pass— Uttarakhand -

. (C) Dipher Pass — Arunachal Pradesh
(D) Jelep La— Sikkim

(A) &q @ (Shipki La) — @ce® 9624

(B) 20g aid (Aghil Pass) — a6

(C) @xaaid (DipherPass)— aQaieq

(D) eaag @i (Jelep La) — d@q

CSP-1/D 3
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5.] Which of the following factors are | 5. @q6gl 108 goe ANIQ 69AT 8RQIG adeEe

responsible for breaks in the monsoon? qIq QIa Aee' |

. Origin of tropical cyclones in Bay [ qewgaida 62 9134 QIeYa Q98gR
of Bengal 2168
e ® ror of 7nd & Pl =

1. Enanlc behavior of 2™ equatorial L e 8gesas @ 2A8A0/274 seeia
troughs

II. Inadequate heating of Tibetan [[I. &eala aIRgaa agﬂwg 2lallal

Plateau IV ofg-ada gi8a 686 Q ede aidl aaa
IV. Southern Branch of South West Q196 Q9sa AgIIe 62188
Tropical Jet re-establish over _
northern India 0] 2696 qI8g
Choose the correct options from below: aqq :
Options: (A) eIV

(A) TandIV
(B) I,ITandIII
(C) LllandIV
(D) IVandIll

' (B) LIIGIII
() LIeIV
(D) IVl

B06a GRS §21/6Q1GER AN 699G

6. Which of the following river /riversare | .
6361 gaea @R HIIAR gaIR gede @QR |

exhibiting the antecedent drainage
in Odisha?

patteen i OUSHA (A) agIga 6 QIgd

*~(A) TheMahanadiand the Brahmani

B a1 8 65694l
(B) TheBrahmani and The Baitarini (B) o oadl

(C) TheMahanadi and the Baitarini (C) awqal 6 63ea4!

(D) TheBaitarini and the Rushikulya (D) 636ad1 6 adqml

7. Black Earth soil has been developedin | 7. 68410 694 28060 98 AQIQ §aI8 A58 ?

which region of Odisha?
(A) QIgan 2QQIgR

(A) BrahmaniBasin

(B) Mayurbhanj (B) agese
.+ (C) Anugul - Athamallik and Boudh (C) ugge-209Re 6 6918
(D) Sambalpur Valley (D) ARRgR aGYR!

-CSP-1/D 4
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Mat.ch the morphological units of
Rollmg uplands (List - I) with the correct
river basin (List - IT)

List-1 List-1I
(Morphological (Basin Associated)
Units)

a. The Rajgangpur 1. Ib Basin

- Panposh
Uplands

b. Thelharsuguda 2.- Northern Tel
Uplands Basin

¢. TheBalangir- 3. TheSabari
Titlagarh - Basin

Patnagarh uplands
d. TheMalakanagiri 4. Koeland the

Uplands - Sankh Rivers
Codes :
a b ¢ d
r(A) 4 1 2 3
@) 1 2 3 4
< 3 2 1 4
M) 2 3 1 4

9.  Which of the following is associated

with Chilika lake?

1 First Indian wetland under the
Ramsar Convention.

II. Irrawaddy dolphins
III. Lacustrine plain

Select the correct answer using the code
given below:

(A) landIIonly
(B) TandIIlonly
(C) Tonly

. (D) LIIandlII

CSP-1/D

Q% 9fica aold1 6 agidl (S1AaI - 1) @ 99eq
Q@ (oifal - II) 69 29I 689 9919 AQQIERI

d2 60 WIag ? 667 @9 |

QIRQI-I elael-1I
(9aeq vaR) (Fe1 Qg9 2RAES)
A QIRGIFTYR 1. aa (Ib)
- dIR6dIq ZeQIeR
QeaIgl
b. ¢ieggelasaial 2. 68ARQT QAN
7QQleR!

c. eaIfe - Gonae 3. Q69al /

- AIFEI9E aeaigl 21QQIeq!

“d. aReedd asaisl 4. 6RINR G Q8 G491

(Koel and the
Sankh Rivers)
6@ (Codes) : '
a b ¢ d
A 4 1 2 3
B)y 1 2 3 4
C)y3 2 1 4
M@ 2 3 1 4

. B6qIg AAiQ 6949 BRGI 22 96 °qe/A°RT

266 |

L Qe aF@ee a86de gae QIesia diQ
o

. QUGB RT]

I 2ayge aage

06R 2IAIRARI 6218 (code) 662 0] 288S
Qg |

(A) eaeelall
(B) eaee a6l
(C) saenl
(D) LIIeI
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12.

» (C) land4 (D)

Odisha experiences which types of
climates according to Koppen’s climatic
classification?

X(A) Tropical Savanna
{B) Humid Subtropical
(C) Mediterranean
(D) Subtropical Steppe

Which of the following statements are
correct in respect of ‘Objective
Resolution’ of Indian Constitution?

(1) The Author of this Resolution was
Dr. B.R. Ambedkar

(2) It was adopted by Constituent
Assembly on January 22, 1947

(3) The goal of this Resolution was to
declare India as a Sovereign,
Socialist, Democratic Republic

(4) ThisResolution later framed as the
Preamble of Indian Constitution

(A) land3 «(B) 2and4
(C) land4 (D) land2

Which of the following statements are
correct in respect of ‘Constituent
Assembly’?

(1) The Constituent Assembly was
constituted under the scheme of
‘Cabinet Mission Plan’

(2) The total strength of Constituent
Assembly originally was 369

(3) 296 seats were allotted to British
India

(4) 73 seats to Princely States

(A) 2and3 (B) 3and4

1and3

CSP-1/D

10.

11.

12.

cqida SeQIg 91998 AQAICA BFAICA 6ae
gelaa |Ralg 2g8e 29 7

(A) 2 aed
(B) 2Ig@agiea
(C) qar QLN

(D) QagiEa 689

aiacia aadea ‘Objective Resolution’
gradeq 86010 a8 AUIQ 6@wS 0] ?

(1) 4@ Q6RIPIANR Qehel 6Qa J. Q.

216Aeaa gem

(2) 1947 adel QIgaiar 22 6q AAIR ANl
QIQI @I gLe cLIRUMI

(3) QY IR AISELIA, AAGRIR, AR
JEQIFY RIEQ 6AINAI FAQ 9L
QERIPYIAQ AFY A

(4) <2 F6IPIAF TR ARG ARG

qsien (Preamble) Q6@ 926 62RAM

(A) 163
(C) 164

(B) 264
(D) 162

‘AAIR AR A°AF6A F6QIQ QG FRINY 694
oR ?

(1) ‘Cabinet Mission Plan’ saieq!
AR QRIS AR 90 6aIRAR

(2) <fue aaIe e Ayl al 369

(3) &54 eda1g 296 & de Qe
QRIIRAR

(4) seqa1a Qusug 738 21Qe
(A) 263
C) 164

(B) 364
(D) 163




13. Consi - e & :
o Sscl)(liler the follo.wmg pairs in respect | 13. ‘Qiogia gAxiee @2’ AAREA FETIY CAIBIY
ks rces (-)flndlan Constitution’ and J0Ia eq 9e° O] 6ARag QI8 |
PIcK up the right matchings. ‘

Item Source 2196 (Item) @@ (Source)
(1) Office of .
England (1) QiaRe Qg - RS
Governor
- : (2) 6RIGEAQI AIGAS - QNG AT
(2) Public Service - Govt. of India aEan-1935
Commission Act-1935
R (3) Queaia 6 Qdey @ - 999
(3) Freedomof - USA QRI1ee!
Trade &
(4) QAug qeeea - asgRel
Commerce Qs
(4) TheLanguage - Australia
of Preamble of (A) 162 (B) 263
Constitution ©) 264 D) 364
¢«(A) land2 (B) 2and3
(C) 2and4 (D) 3and4

14. @es1a aANIee 699 IRl (Articles) aage

14. Which of the following Articles of 19618 ARAIRR
Q20 QARG Q6L ?

Indian Constitution are not related to

‘?
each other ? (1) e 1266136

1) Art.12andArt. 36
(1) - (2) wiel 13 6 aiaI 368

(2) Art. 13 and Art. 368
(3) w22 6uet32(2)
(3) Art.22and Art. 32(2)

(4) Art. 141 and Art. 214 (4) wiel 141 6 uiei 214

e (A) 2and3 (A) 263

§ (B) 4only (B) 4 sqeq

§ (C) land3 (C) 163

-3

5 (D) Allarerelated (D) aged arde
o

=

=

w CSP-1/D 7

o

-
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15.  Which of the following statements are
correct in respect of Lame Duck
Politician?

(D
(2)

(4)

(A)
(B)
©
+ (D)

Having lost a re-election bid

Choosing not to seek another term
after expiration of his/her term.

No term limit running for
particular office again

Abolition of Office after his/her
official term

1,2and 4
2,3and4
None of the above

All above

16. Which of the following statements are
correct in respect of Basic Structure of
Indian Constitution?

(1
(2)

3)

(4)

- (A)
®)
©)
(D)

——
-

Jauueds NINO yum pauueds )

CSP-1/D

[tis a form of Judicial Review

It is used to test the legality of any
legislation by the Courts

The Doctrine of Basic Structure of
Constitution gave free hand to
Parliament to amend any part of
Constitution

The Constitution of India defines
‘basic structure’ in terms of
Federalism, Secularism,
Fundamental Rights and Socialism.

1and2
2and3
land 4
3and 4

15. 'Lame Duck Politician' & a°ad6a &q
Qegea ANQ 6RQ6 0] ?

16.

(1)
(2)

(3)
(4)
(A)
(B)
©)
(D)

gadia IR AT 09IGe 6

feq QIJISIR 698 6291961 AR IR
QIR @ 6991 AIR QIBS!

5dq QIduea 019 QYRR Q1AI QRS
Aea 99QIR1 QITYRIR U6Q T9N1 QR
1,264

2,364

QUEAUY 6896 6%

QueQlq 49019

QGG QAUGQ 6109 Bl ANICA T6ID
QARYER AlQ 6996 OR ?

(1)

(2)

3)

(B)
©)
(D)

g N9 gRIa T9IQ QUG 1Sl

6RI0 QIRI 6916Q 2INRQ 6FUG AQIF!
QA9 9IR 2R LYY IR

AAMIGQ 6AIRQ QIEIQ IR 9
6Q6QI6T 296 ACARIF AR A°ARQ
(9 28 9oIe @@l

Qe ARAIR A°ARNQ, UAFREA[G,
6FIRQ 2RUKIR 98" AAIRAIQ QUIER 6610
Q181 adaFe aqae

l1a2
263
164

364
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1% Entry 5 of List I of Seventh Schedule of

! 17. wiee1a qAdiea egn aq9eia eRal II @
Indian Constitution deals with -

9694 5 Qg 98¢

(A) Public Order (A) qeqial 2i6ed
"(B) Public Health (B) eaqigy

(C) State Pensions (C) Qs sarag
(D) Local Governments (D) gma e

18.  'Which of the following statements are | 18. wiasia qAuies uial 243 eradea q6q1

correct in respect of Art. 243 of Indian Q3gee Mg 6946 O] ?
Constitution?

(1) w243 (C) 3q1 gasa Q8IGe6a

(1) Art. 243 (0) _ provides gINgasa agIae 2uNes gEaNe gaIe
representation of chairpersons of | Qaellg ;

Panchayats at the Village level in

t istrict .
he Panchayats at the District level (2) il 243 (D) givgeq siaeqEess

AU QLYIRAQ FIRRIE QIR gERGR

(2) Art. 243 (D) provides Quegl a7a

representation for women to the

offices of chairperson in _
Panchayats at village level. (3) i 243 (I) asioe Qe §eq 2o
Q09I A6l 9@ ANfe

(3) Art 243 (I) is related to power to

levy taxes by Panchayats (4) 1243 (J) asiae Gdioe adsa gq
QRS AIR 6RIF AAER YIRS RTINS
(4) Art.243 (J)is related to bar on the Q2 QRe
courts to call in question the
election of Panchayats (A) 263
(B) 1and4 © 162
(C) land2 D) 163
(D) land3
CSP-1/D 9




19. QIaeq ANIER AASRS Q°AR6Q FegIg 2FYE

19. Which of the following statements are
g 6996 OR ?

correct in respect of the Election
Commission of India?
(1) weve qecaIde ARRES Qg

(1) Itis an autonomous Legal Body

(2) Part XV of Indian Constitution 2) @lﬁfim qafl 9 Gg@.ﬂ a1a68 Gdion
deals with the Elections and the 8 @Qleq @GR IARGR QSR agR
Election Commission

(3) 1950 sigaist 25 62 adieq afise giae

(3) The Election Commission was 3Ll

established on January 25, 1950
(4) w328 A4I9R AIARIEA 6RITR 2g6Td

(4) Art. 328 provides bar on the Qa6a gEeaRe AAIR &I
interference of Courts in electoral
matters.
(A) 263
«(A) 2and3
(B) 164
(B) land4
(C) 364
(C) 3and4
(D) 263
s (D) 2and3

20. Which of the following Committees | 20. @7 gasa q2l QEIaeqeea 98 AR 9649
recommended for the creation of ‘Nyaya a6 QAT gIe 6QYSA 7
Panchayats’ at village level?
(A) <9. 9. AG8 e
(A) L.M.Singhvi Committee

(B) GVK.Rao Committee (B) 5.8 e omet

(C) Mohan Kanda Committee (C) s6R128 Q4 /7S

(D) Ashok Mehta Committee (D) 2681R 6616261 QAT

CSP-1/D 10
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21. Which of the following statements are

22.

correCEt in Iréspect of ‘Attorney General
ofIndia’?

(1) Attorney General of Indiais a part
of Indian Judiciary

(2) Attm:ney General of India is
app_omted by President on the
advice of Chief Justice of India

(3) The term of office of Attorney

General of India is not fixed by the
Constitution

(4) Attorney General of India has right
to take part in the proceedings of
both Houses of Parliament.

(A) 1,2and4 (B) 2and3
(C) land3 (D) 3and4

Which of the following statements are
correct in respect of Bills introduced in
Parliament?

(1) IfaGovernmentBillis rejected by
the House in Parliament it amounts
‘vote of confidence’ in the
Government

(2) The Government's Bill introduction
in the House necessitates a

fifteen-day notice

(3) The ‘Taxation Laws (Amendment)
Bill 2021’ comes under the
category of Money Bill

(4) The Central Universities
(Amendment) Bill 2021 comes
under Ordinary Bill.

«(A) land4 (B) 2and3
(C) 3and4 (D) 2and4

CSP-1/D

21.

22,

91094 216 R6AAINS 2°06a 77 a99Ee
MY 6046 O] ?

(1) @iaeq 2164 686RRIA ARG
MATIRR ¥R 2°4 2168

(2) @eeq guIe FYIANIES JRIALER
QUFABE QIR RIGER UIFE 6RERARN

799 928

(3) QAue QeI AAER 2ITE EREFARS
QdieIn §a calnei@

(4) e 294 g2 QIJIER QT 6891
AR NNGA Y 6F6FARGTR LT

(A) 1,264 (B) 263

(C) 163 (D) 364

Q°AQEQ 2T 62IRIYSI FUARYER ANRER
q6919 2BYER AUQ 6996 OR ?

(1) 2@ 613 AARIA1 TR AR 26
gRUISHIE 29 6368 2! AARIAT QU
2Igl 6RS AQ48 6RIR2AN

(2) 9269 AARIN FEUAR AAYIAR AIRA LR
Q0Q 6Q159 21Q64R |

(3) dea (asare) Jeuae 2021 ad
F6AQ adea adar

(4) 6280 FENIRG (Q6aR) TR
2021.QrI94 Q6rae AUIRER 2T

(A) 164 (B) 263
(C) 364 (D) 264
[P.T.O
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23.

24.

Which of the following statements are

correct in respect of “Types of Majority

in Parliament’?

(1) Absolute Majority -More than 50%
of the House’s total Strength

(2) Simple Majority - The majority of
more than 50% of those present
and voting

(3) Effective Majority : Majority of
the House’s effective strength.

(4) Effective Strength : means total
strength excluding number of
vacancies

(5) Special Majority : Majority of
2/3 members of total strength of
the House

(A) 1,3,4and5

(B) 2,3and5
2»(C) 2,3and4

(D) 1,2,3and4

Which of the following statements are
correct in respect of ‘Sittings of
Parliament’ ?

(1) In the year 1955 a Lok Sabha
Committee had proposed a time-
table for parliamentary sessions
with three times a year

(2) It suggested Budget Session from
February 1, to May 7

(3) It suggested Monsoon Session
from July 1 to September 10

(4) It suggested Winter Session from
November 15 to December 15

(A) land4 * (B) 2and3
(C) land2 #(D) 3and4

CSP-1/D
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23, geqeeq °Hl GETLIR gRIA A'adea Areq

24,

aQl Q@ﬂ@ﬁ? e 6996 0] ?

(1) Fegs aaIEEES - 928 6716 a'ag
50% Q TS

(2) QrIgs AH1ISEIS! - QAge 6 s
coaaQl a-aa 50% q 2R

(3) g AEIGRYE! - F2Q AYRIE GAIST
Qingy (s

(4) gaiel QifEdy - 22Ie HIR a9s! Iy
QIR 699 AR AQS! A6

(5) Qo] WIS - geq 67Ie IQQY
Qgya 2/3 (92 9o19°d) ey 019
2R

(A) 1,3,465
(B) 2,365
(C) 2,364
(D) 1,2,364

‘@Qe odel’ AUFsa 6719 APYER AU
6996 0K ?
(1) 1955 adeica 99 6RIFAAXI Q€T

QA1 ERIEISR IR 98] TFAQ IAG
QAIRE1 gge QARIg 9YIe 6

(2) saqaial 1 Qea 7 adys QERe 26N
Afa 92l aaIad 6QnaRl

(3) qma 1 q sasgra 10 adye éﬁiqm
ANERER FAQ 92l AQIAE 6QRaR

(4) eeana 15 q Geana 15 adye
SIGRNE 26RIe BFa 12l aqiad

Salatiat!
(A) 164 (B) 263
(C) 162 (D) 364
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25. Which of the following statements are

correct in respect of ‘Procedure

established by Law’ and ‘Due process of
Law’?

() Under the principle of ‘Procedure
established by Law’ , as long as the
government follows the
procedures it has established, it’s
f,mtions are considered valid, even
if they may appear unfair, or unjust
to individuals

(II) “Due Process of Law’ doctrine not
only checks if there is a Law to
deprive the life and personal liberty
of a person but also sees if the Law
made is fair, just and not arbitrary.

(III) “Procedure established by Law’ is
an American doctrine and ‘Due
Process of Law’ is Indian
constitutional doctrine.

(A) Iis correct and II and III are not
correct

-(B) Iand II are correct and IIT is not
correct

(C) 1 and III are correct and II is not
correct

(D) [, II and III are correct

26. Which of the following while pursuing

common interests of their Groups,
attempt to influence the Public Policy
making?

“ (A) Pressure Groups
(B) Elite Groups
(C) Bureaucracy

(D) Political Parties

CSP-1/D

25,

26.

‘URR QA goFe gFAl’ e ULKA gIay
JRal’ aneeq Ggen FUAINAS AGYER AAYQ
6246 O] ?

(D) ‘e Qo 96§ gFaI'a /16 211968,
QAR 6a 9dys @ 9RAIg QA8
Q05, 63 adye IR QIKIQ 65 631R
G607 QAL 9206 699G AT
gé 2gfe QI ARQIR 6QIR QAAIR
6210216Q

() ‘ueee gay g’ 4818 61QR |66
R K199 6 GIS RIFSIY °FC
QAQIQ 2108 28 @ AIF Q12 JIE Q6R
QIZ e GG 62IRYQI 2AIRE V98,
QUIEQE Ne° 69RISIRN @ Q6% GIRI 6Q6

(III) ‘aee QoI goge gaal’ e 2I6AaR1%
dRIe 99° ‘UREQ gIay 939’ 6298
QUARIA ARURR AR

(A) 10<ase e 11611 0R ge@
(B) I16II0R 2i6e 9e° I O) g6%
(C) 16III0R 2ee e I O] g6%

(D) I II6IIIdg2ee

Q6019 A 696G B9 6aIgIa ANIRE Qid
I QAQl AANER ARG Q18 FSIQEY
JRIGe QAQIQ 608 IRaN ?
(A) ola 6qIg! 292

(B) qgis sqigi

(C) zames

(D) QUe6hee 9Rges




JauURDS NINO Yum pauueds )

27.

28.

29,

During which part of the ‘public policy
cycle’ does the government explore
potential policy responses?

(A) Values setting
(B) Policy formulation
(C) Policy implementation

,(D) Policy feedback

The final six months of the Election
cycle, when the government announces
popular government initiatives is known
as -

(A) GreenZone
(B) Yellow Zone
(C) RedZone
(D) BlueZone

Which of the following are the features
of “‘Good Governance’?

(1) Accountability

(2) Conservatism

(3) Rigidity

(4) Transparency

(5) Integrity

(6) Micro Management
(A) 2,3and6

(B) 1,2and6

(C) 3,4and5

« (D) 1,4and5

CSP-1/D
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27. ‘9ae1e 09 (Public Policy Cycle) @ sagt

28.

29,

srq QA6 AARIA ARIGY 916 g8Gaiq
2qQRie Q88 ?

(A) qR @d108
(B) @16 Adiad
(C) <16 QIHIgas

(D) @6 goq8

adion 99 649 82 F1Id, 6J60626R AARIQ
cAIRTa AAQI1 996Ed 6AITEI 993, NaIg

QaIard I
(A) grResI]
(B) casmiexIR,

(C) 69@ 6qI]
(D) qsaq

q691Q 1Y 68T EIARA 655y AT ?
(1) e qidq
(2) <Q@eaiRel
(3) <e0IQQI
(4) <gel

(5) <so1es!

(6) 99 9q0Ieal
(A) 2,366
(B) 1,266
(C) 3,465
(D) 1,465
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30. Which of the following are true about

Public Policy?
(1) Itisaway of doing things including
rules and regulations
(2) 1t is a means of ‘authoritative
allocation of values’
(3) It is for Public Sector
Organisations
(4) “What the Government choose to
do or not to do’
(A) 1,3and4
(B) 1,2and3
(C) 2,3and4
(D) Allabove
31. Which one of the following statements
is correct in respect of Art. 21 of Indian
Constitution?
(1) It guarantees Right to Life and
Personal Liberty
(2) In the case of Narmada Bachao
Andolan Vs Union of India 2020,
Supreme Court held that ‘Right to
Water’ is not a Fundamental Right
but Legal Right
(3) Rightto Water is inferred from the
Right to Life
(4) The Supreme Court also held that
access to Clear Water is a Natural
Right
(A) land3 (B) 2and4
(C) 2and3 - (D) land4
CSP-1/D
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30. aaqiat 416 (Public Policy) §896a 6319
AIQ 69916 OR 7

355

(1)

(2)

)
4)
(A)
(B)
©)
(D)

421 616 6 YI9FIeR1 A6AE QIdY AR
N9 IRIE

N2l RYCIRIA AYRIAR AIRYAQ Q@
QI

42! QIGIOG A°gl AIR A8Y

d0QIQ @' 98Q! 6 ¢ 9AS! AIR QBB
1,364

1,263

2,304

QUeUY Arg

QASI QAuee ARl 2] aneea F6QI9
QRYER A 696 0] ?

(1)

@)

€)

4)

A)

©)

<21 QRIIFGI B FIFRA ANRIAQ TIEQS
62RaN

‘AFIQI 99IB ZICRINR QRN YRAS AT
@821 2020’ AIARIEA TN 616 SRR
64 89 QI 6A1FQ 2RQIQ §6E, 42l
2IRFEE 2AUAIQ

Gf ZRFIR RN AYRIQQ AT

qge 6qI¢ AU FgR AId QIRQI QINITR
2RIQIQ CQIR SRR

163 B) 2064
263 (D) la4
[P.T.O.
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32. From which Constitution ‘Suspension of
Fundamental Rights during Emergency
was borrowed to Indian Constitution?

(A)
- (B)
©
(D)

Soviet Constitution, USSR
Weimer Constitution of Germany
French Constitution

Swiss Constitution

33. Which of the following statements

are correct in respect of ‘Right to
Education’?

(1)

2)

3)

(4)

(A)

(B)

©

= D)

CSP-1/D

Art. 21(A) of Indian Constitution
provides Right to Education for

free and compulsory education to
all

Right to Education Act was passed

by Indian Parliament on August 4,
2009

Right to Education came in to force
on November 14, 2009

Art. 21 (A) was inserted in the
Constitution by 86" Constitutional
Amendment Act, 2004

land 3
1 and 2
1 and 4

2and 4

16

32.

33.

3

cad aAuIng ‘948! 996q eag ;
Gaae QIee1E QRN 2eining ; ™

(A)
(B)
©)

6aIGae, ARNIR, GIQuQeq

66099 AR, |eIeT

e QAR

(D) &qanIe

Fa 2QIR’ A6 F6gig Q3980 A
6096 0Q ?

(1

2)

3)

(4)

(A)

(B)

©

(D)

Q618 AAAKY Al 21(A) Qngg
AIGEI @ QRISIAD BB FAe Ja ayeq
geie @dg

2009 e9g 4 6a QURG1A Qge QI
891 AR 2NRAF 216 cRInaR

2009 geane 14 cq ag 2RI
AARAA RIY 2R

86 an afyIe Qesig 2gaa 2004

QI afagea diar 21 (A) 2859
SQIaql

163
la2
la4

264
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34. ‘\Nl.lich of the following are related to
Rightto Privacy?
(1) Art.21 of Indian Constitution
(2)  Art. 12 of Universal Declaration of
Human Rights
(3) Art. 17 of the International
Covenant on Civil and Political
Rights.
(4) Art. 8 of European Convention on
Human Rights :
(A) 1,3and4
(B) 1,2and3
(C) 2,3and4
(D) Allabove
35. Which Article of Universal Declaration
of Human Rights tells that the ‘Right of
Nationality> depends on one’s wish.
“Every one has the Right to a
Nationality™?
.(A) Article 15
(B) Article 20
(C) Article 25
(D) Article 30
CSP-1/D
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34.

35.

‘NG 60ITRITS! ANRIQ’ A°ARER FEQIY
699G OR ?

(1)

AWAR1Q QAR UIR 21

(2)

AIRGQ 2RYQIAQ ALFRR 6AITEIR
dial 12

®)

QU8R @ QINERER 2RNA QUER
2180109 QasIIa e 17

4)

9621019 AIRTR 2YRIQ ACARAQ
Al 8

A) 1,364

(B) 1,263

C€) 2,364

®)

QUERIQ 49Ag

CIRAQ ZAINS ALARIR CATEIR 69Q IR
‘F1AGIA YA’ VIS ARl RACA FAR
QBN 62IR S22 | “‘g6DIR TR IR RIS
aNRIR 28 17

(A) w15
(B) @i 20
(C) ual25

(D) a1 30
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36.

3

< (©)

With reference to inflation targeting by
the Reserve Bank of India, consider the
following statements :

1. InMay 2016, the RBI Act, 1934 we.:s
amended to provide a statutory basis
for the implementation of the
flexible inflation targeting framework.

2. Under Section 45ZA, the Central
Government, in consultation with
the RBI, determines the inflation
target in terms of the Consumer
Price Index (CPI), once in five years.

3. On March 31, 2021, the Central
Government retained the inflation
target of 6 percent with the
tolerance band of + 2 percent for
the next 5-year period - April 1,
2021 to March 31, 2026.

Which of'the above statements are correct?

(A) land2only

(B) 1and3only

(C) 2and3only

(D) 1,2and3

Which of the following statements are
true in relation to the G20 New Delhi
Declaration?

1. AlS83 paragraphs of the 2023 G20
New Delhi Leaders’ Declaration
were unanimously approved.

2. It didn’t feature the conflict in
Ukraine and its subsequent
economic implications.

3. The declaration stressed the
urgency of mobilizing US$4
trillion per year for clean energy
technologies by 2030.

(A) 1and2only

(B) 2and 3 only

1 and 3 only

(D) 1,2and3

CSP-1/D
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36.

37

Ga6 QU 29 82 Qg Q&5 \

9!
cq BaRse Y Jeeq QIq o9 | Y El!% |

1. 672016 69 QG gy I9e
60 Q°6AIIA SRR rigyg - 193
QIEIQ QIAYIQAR Qe e 3 R W&q
gaIe SAILINER | ¥ yg

2. g6 Q1Bed6R a6a gigg, \ %
991910 AR 210.3.219 gg o UM
QIR0 20Q1R FV6E QGeig, o, 4521
QI 2gaIan

3. a9 31,2021 6a 6ag qoqq q
aiged g 1, 2021 q aig 3 20261
adie 6 95499 20419 yg go o
AFIQ A°ATC QYR

Qa6aI9 670 AFT O]
(A) eaer 162
(B) eeep 163
(C) saep263

D) 1,263

RS @8 e a4Q G20 Q2B saiggl
ARQAIEQ 699G O] ?

1. 2023 G20 QLY RIS 6QI9QIs

ang 83 aqege QSQRagen aaeﬂme
821Q2RI

2. aeq 25909 QR 6 a9 28R gaIe
2°AG6Q adg eaml

3. <®Reamaiien 2030 981 98 63 948
e odq US$4 adaie edeia
Q16U FQIQIRE

(A) eeen 162
(B) 690263
(C) sqep 163
M) 1,263
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38.

39.

MGI?TREGS is recognised as ‘core of the
core’ scheme for achieving Sustainable
Development Goals in India.
MGNREGS was reported in the

Voluntary National Review (VNR), 2017
by Government of India for its

contri?ution to achieving which of the
following SDGs directly?

SDG 1 -No Poverty

SDG 2 - Zero Hunger

SDG 5 - Gender Equality

SDG 10 - Reduced Inequalities
123

1,3,4

2.3, 4

1,2,3,4

AW

(A)
(B)
©
(D)

Consider the following statements :

1.  Poverty line estimation in India has
been based on the consumption
expenditure and not on the income
levels.

2. Itis difficult to assess incomes of
self-employed people, daily wage
laborers etc., and there may be large
fluctuations in income due to
seasonal factors

Which of the following is correct in

respect of the above statements?

(A) Both 1 and 2 are correct and 1 is

the correct explanation of 2

Both 1 and 2 are correct, and 2 is

the correct explanation of 1

Both the statements are correct but
none is an explanation of the other

-(B)

©

Both the statements are correct but
unrelated

(D)

CSP-1/D
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38. MGNREGS aigeca 6018419 Q. Q4

39:

(SDGs) sa gegel aid “6Q1Q 29 @ 619
Qe QIRER D96 62R! | AeIaIRt K014 GIETd
gAde saigaia caieal MGNREGS 2@
29QI6g €284 JIQ AIRS RIS Al cRIReId
QuQeIR dqy (VNR), 2017 68 Fqage
SDGs g6ea geie QI96a Q6als 621RA

1. SDG1 -<iagy e aal
2. SDG2- g gy

3. SDGS5 - Agee QqIea!
4. SDG 10 - 2aqieel 819
A 1,2,3

B) 1,3,4

(C) 2,3,4

D) 1,2,3,4

A9RAge AQEq S9Ie 99 |

1. QIee6a QG 696l AIRRE SIAT A
8 21992 2U6Q @ &9 AAER AR

2. 92 Q-790 09, @9 AgAY AN Q
2194 2Re 89 /0 ARl 6 921 A

Q190 QIR 296 9F URER AAINSHAY
62199169

QUERIY Q9 AIRT ARIAER F69I9 @B AR
q2IQ 6996 OR 266 7

(A) @aa1620%, 6162082 Q A0Q
QI '

(B) @02 1620, 626208 1 Q0R Quisl
©

(D)

Qa0 2 O) Gg 698 IR YIS 28

Q0@ 2@ 0] §g ae Je19

[P.T.O.
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5‘@9 ﬂﬂl

fRge 98 999 AUQ 6agd gy
40.  Which of the following terms are the 40. @qad
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components of forex reserves?

Qgiaq QQIQIR 26E |

62624e 9 e
L. Foreign Currency Assets L
2. Gold 2. 4@
3. Special Drawing Rights 3. QeR Q08 ANRIQ
4. The Reserve in the International 4. 2ee1e19 g9iaideqg agg|
Monetary Fund
(A) 1,263
(A) 1,2and3
B) 1,264
(B) 1,2and4 B)
4
(C) 2,3and4 ©) 2,36
-D) 1,2,3and4 (D) 1,2,364

41. Which of the following statements

41 Reqig 606G 8.4 Fgasii ande 2582 ?
is NOT true in relation to
PM-VISHWAKARMA? (A) w2i 17 sasqaa 2023 ¢q qiaeq
UFACR IRl gauga 62192A!
(A) Itwaslaunched by the President of

. India on 17* September 2023

(B)
(©)

(D)

CSP-1/D

Itis a Central Sector Scheme

The new scheme intends to provide
recognition and holistic support to
the traditional artisans & craftsmen
working with their hands and
elementary tools

The scheme intends to improve the
quality, scale and reach of artisans’
products and also to integrate them
with MSME value chains

20

(B) e §QRQ1A caiee!

(©) <2 q0r caigar g Q6Q4aY QIaMae
98da1 6 2935 69Q91169 & 6Q01eG
9% 6 9Iede aegiag Qe2UQ FQAER

8QRIRg AIag1e agiael 6 Q198 gaR
Q| '

(D) <@ a7 eqivanies qaodllaigR)

19 98 o391 6 MSME ol
92 6AAIRG ANRe Qael Q4R




